D 80 @ 90 ® 216 @ 168

@150

D 80 =24 x5

© (A4+1)x (1+1)=10(7H)

@90 =2x32x5

D)X 2+ x(1+1)=12(71)
® 216 = 23 x 3°
 (3+1)x(3+1)=16(7h)

@ 168 =23 x3x 7

B+ x(A+1)x(1+1)=16(70)
® 180 =22x32x5

T 241D x2+1)x(1+1) =18(7)




& & 5 47 ARavt opd A2

® 2,7 @ 3,8 ® 4,17 @10,15 ® 11,21

@ 10 7 15 9] FHFF= 5 0| B2 T = AR 4T} ofY T,




3. Al AAES, 12, 16 9] HAFHSE?

D 24 @ 32 ® 36 @10 @)

B

FEA] &425 UL Ao] ofet FFo2 ol & &

2
FoA 7Fsdt 2 2 Yol "ot

(HAaFHH) - 2x2x2Xx1X3x2 =48




= % 12 o] Hizpol A “SA o] 15 9] Hlj47} 5]

L AL9
— Tl

O 20 @ 30 @ 40 @®)60

12 9} 15 ©] ZA£FH4e 60 o] W42 Fom et




*E 3609 451 949 ), x 9] AL

o2/ @s3MH  @sH  @16A

® 3274

360 =23 x 32 x5 O|B2 A2l 2 3, 50|tk
A, x| 4 3() ol ek,




T 20x T3 x 113, 20 x 52 x 117 o] H k57t 88U W, a + b ©
27

@1 @ 2 ® 3 @4 ® 5

S5 :
Z| o FoF7t 88 = 23 x 11 ©] 1L

24 % 52 x 11% oA 2 Q] |47t 4 0]B 2

24 % 73 x 113 oA 2 @] X|4=7} 3 o]o]of 3T},

2 Aoz

20 x 73 x 113 oA 11 &] 2|57} 3 o]B 2

24 x 52 x 117 | A 11 &] A7} 1 o]ofof gtk

et a =3, b=1




7.

A AR A, 2%, 5272 O HAFWETF 27 x5 x 72 D o], A
gol B 4 9 T A AA5E BF HohH?

@ 23 @ 25 @27 @ 29 © 31

B \

A A4 A, 28 x7, 52 x T2 o] HAFHLTE 28 x 52 x 72
olmg

AE2 5 72 2072 7H = 3eH 7 2l A+E
2P x7, 5°x7 9 £A59 ALHEG A7 Zod A,
webA, A 9 grol B & e o A = 1, 2, 2%(=

4), 5, 7, 2°(=8) °|BE o] & BF TS} 14+24+4+5+7+8 =
27 o]t}




8.

Al 49, 18, 27 o] FHIG 5 500 ©]5Fe] A= T B AQ17E?

®3A @54 @1AH @A O uA

9, 18, 27 o] FHiF= X AFHlS 54 9] Hjgo] B2 500 0|5}
AAPL= 500+ 54 =9---14 0|2 & 9 Fjjo]t},




1x2%x4%x5%x10x%x 20 =2%x%x 3% x5¢

@o @ 1 ® 4 @ 6 ® 8

IX2X(2x2)x5X(2x5)x (2x2x5)=20x30%x53
“a=6,b=0c=3
S 6x0x3=0




ol

olJ

N &

Nfo
,mo
xn

op

® 450 oF
k0] )4 2 7
ot

@ 79
W4 FolA L4
= 17e]tt

o]
Fd

)




11. 22x 3%, 22x32x5 9 FoF5o] /42

@ 4 @ 6 ® 8 @9

® 12

22 x 3% 22x32x5 9 FHYFIrLE 22 x 32
T HFefso] efo|ng,

1, 2, 3, 4, 6, 9, 12, 18, 36 = 97]|°]c}.




12. 54 2172 9] FOF4 Fol4 3 ] w491 oS a7fet & 1 a 9 oF4:]
Ast

o2 @3 ® 6 @ 7 ® 8

B «
FHsoFs 18
18 9l FE 1, 2, 3, 6, 9, 18 O|BE 3 o] B9l A4k 4
7ol
4Eatd g fpo ArE=22=(2+1)=3




13.

A% a o] 9k50] A4S fla) o2t T W, £(30) x f(x) = 32
SEAIE AP 2 A x o] gHe?

@ 2 @3 ® 4 @ 5 @6

=
=

B

30=2x3x5 2 AAFLEFEHER
fB30)=(1+1)x(1+1)x(1+1) =8 o]t}
f(30) x f(x) = 32°lA f(x) =4

ok20] F|2e7} 4 Q1 71 2L A% 2% 3 = 6 o},




14.

108, 135 9] Zt}EoF4E9

@© 22 @33 @ 23
@ 3x5 G 22 x 32
108 = 22 x 3%, 135 = 3% x 5 °| B2 g4 33




15.

T 445 a, b O ARFESE 24 0|k a, b, 32 9] FF
Fot?

D1 @1,2 ® 1,2 4
@1, 2, 4, 8 ® 1,2 4,8, 16

a, b FEFEL 2,3, 4, 6, 8, 12, 24 °Jck.
32 9 ¥ 1, 2, 4, 8, 16, 32 ok,
kA F 50 gk 1, 2, 4, 8 °Ith




